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M MHXEE D
HI: WRES(X

el 2ENIE (CHe:dE)
SN - HM . AA(3H) - MEANY - BES Oil &FoH gg% Husz

802 Bret=D|E 3,029 0 3,029

01 2DBXILES 2,39 0 2,3%
OXEA ZCUOIH X 2,389,050 2,390
ClIPUR=I= = 5,000 6

02 Al - SHIEZSEEZ 633 0 633
OMDIE23 CI=2X32 AEEY 174,7002 175
OMOISXISA Xt &HES 334,430 335
ONHEANME SAIESE X 116,920¢ 17
QO+ gt = 5,360 6

2F dH=L 5,774,378 221,779 5,552,599
= 117,426
Al 5,656,952

2R 5,774,378 221,779 5,552,599
= 117,426
Al 5,656,952

(H2HXgHHN =H & AAZH(=H]) 95,544 0 95,544
< 31,848
Al 63,696

101 @1 A44| 6,762 0 6,762
[= 2,254
Al 4,508

04 JIZHH22UHSEE S 6,762 0 6,762
ORM63 MIBSAXLMN EXH 1A (14Y) 6,762
= 2,254
Al 4,508

201 Ler29d| 60,882 0 60,882
[ 20,294
Al 40,588

01 At 22l ] 54,083 0 54,063
OuNHUHE S 68 18,363
= 6,121
Al 12,242
O&NGR A A2t 22X S EH 35,700
= 11,900
Al 23,800

02 3294l 6,819 0 6,819
ORMA SEEEX &€& 6,819
= 2,273
Al 4,546

202 04 H 18,600 0 18,600
[ 6,200
Al 12,400

01 20l 18,600 0 18,600
odNYR2 2 0HI(Z,89) 18,600
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SA RXBED
By BF M2
cel: AN BL (chel: =2l
- - PSR
SA-EH B (3) - NN - BES 0l &k 04 i HmE2
= 6,200
Al 12,400
203 YR FEH| 9,300 0 9,300
= 3,100
A 6,200
e eSS 9,300 0 9,300
OHNYLTY ARFTYI(Z,SB) 9,300
= 3,100
Al 6,200
(2)H6s H2EA XL 4,399,021 0 4,399,021
= 85,578
Al 4,313,443
101 @124 H| 16,486 0 16,486
< 5,495
Al 10,991
04 JIAH2ETS2 S 16,486 0 16,486
© W63 MREA NPEH =T IIZH22X
CRS 16,486
OAl 42,2608 * 12 * 302 1,268
& 422
Al 846
OPE 42,2608 » 19 » 202 * 2H7H 1,601
= 563
Al 1,128
os 42,2608 * 18 * 102 * 30HS 2,678
= 4,226
Al 8,452
OZRIGILHZ(OIZ=LS) 848,808 849
& 284
Al 565
201 YEr2 | 250,606 0 250,606
< 65,083
Al 185,523
01 AbR 22l 221,959 0 221,959
ON6E HBEAl NPLHALET S| 78,403
osNoIYE T 4,713,002 4,713
= 1,571
Al 3,142
OMNAE RS 1008 * 272,910KICh 27,291
= 9,097
Al 18, 194
O=AET 7Y 7,908
- A 21,8002 * 208tA x 14012 436
< 146
A 290
- 73 21,8002 * 208 A * 204 H 872
= 290
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SM: XX
HFM: 3F d2Le
S 2el

- FHM .

SR (313) - NIFANE - BES

Off &4

- 22,0008 * 1022 « 300HS

OMNREE 78
=Al 1,997,000&

Ot

-7 1,997,000& * 294+ &

-= 900,000& * 30HS

=Al 100,000 * 3H
-7& 100,000& * 30 * 200 &
-= 100,000 * 10f = 300HS=

OUANBE 245 &Y -

. =

W M=
8,0008 » 200%

© H6sl M=SA NLHN =&

OAl 7,000 » 2098 60
o= 7,0008 * 20 x 602 * 2H7H

7,000% = 109 * 302 « 300HS

&
Il 132,000 * 3302
elH 200,000& = 3302

600,000& + 2CH

Al

= MmN

= H

Al

Al

= M

= H

Al

Al

582
6,600
2,200
4,400
32,991
1,997
665
1,332
3,994
1,332
2,662
27,000
9,000
18,000
3,900

300

100
200

600

200
400

3,000

1,000
2,000

1,600
533
1,067
88,200
8,400
2,800
5,600
16,800
5,600
11,200
63,000

21,000
42,000

55,356

34,560

8,640
10,956
4,356
6,600

1,200
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2AM: XIS H
2 AR
gel: g2l (et & d)
SA - FE - S9(3) - MTAY - B2 0f o o g HIDE2
02 38244 28,647 0 28,647
OHM63 H2SA NN FHANSFEEN &
E23(871) 28,647,000& 28,647
< 9,549
Al 19,098
202 044l 45,000 0 45,000
== 15,000
Al 30,000
01 2LHOIHI 45,000 0 45,000
© H6sl MRSAl XN F& oYl 45,000
OAl 20,0008 = 5& = 30€ 3,000
= 1,000
Al 2,000
o= 20,0009 * 58 « 302 * 24 +& 6,000
& 2,000
Al 4,000
os 20,0009 * 3% * 202 * 300HS 36,000
= 12,000
Al 24,000
308 MHXI M SOIE 4,086,929 0 4,086,929
08 JIEtRE = 4,086,929 0 4,086,929
O HM63l HIZSAl XL 22/FHOIESE
S5 20129 il S E) 14,069
O &gz dHzei?ds 5,387,000 5,387
O 897 dAzelA33E 8,682,000 8,682
O H63l M2SAl XNL&A (XS], XA
)= 2 AAZ 4,072,860
O ag3 dAH2el/Es 2,198,367
-EH ¥ AAF 581,587,000& » 13 581,587
-2 E ASF| 19,580,000& * 13 19,580
-2HHIE 1,597,200,000& * 12 1,597,200
Osgx dH2el?Es 1,874,493
-EHl 2 A& 759,288,0008 *13] 759,288
-a® A5 1,605,0008 = 13l 1,605
-28HE 1,113,600,000& = 13 1,113,600
(BE)XgE) EH & 2A3H RE= 1,279,813 73,532 1,206,281
308 XIS H SOl & 1,279,813 73,532 1,206,281
08 JIEtRE= 1,279,813 73,532 1,206,281
4l & ~AIZ 414,208
OEnr=Eat3Rul 1,605
O2&HE 864,000
DEZE #FMHIA 4 441,081 423,168 17,913
= 79,057
Al 362,024
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KX &
DNEZR Y MUIA &S
DALSABT T (el Hd)
: . SIE]
B EB .S (3H) - MEAY - HAS 0l &k o1 ﬁ},@% H@E2
DMU=0IRASHY IS 441,081 423,168 17,913
=2 79,057
Al 362,024
(HK)0IKEHOAH 2H 14,923 14,540 383
101 @121 H| 6,877 0 6,877
04 J|I2ZtHIZ2ZREE S 6,877 0 6,877
OLIYotHYER0| 2122 41,700 %1502 +1H 6,255
O=2g J|&RE=2 622
OAH2EE 6,255,000 x2.82% 177
OIAYEE 177,000 *6. 55% 12
O=0d= 6,255,000 %4 .5% 282
(@ME=3k=: 6,255,000& *1.4% 88
ONtHEE 6,255,000& *1.0% 63
201 8t2H | 8,046 8,940 N894
01 At 22| bl 8,046 8,940 A 894
OoA HIXTA 2L 10,000 *3&+ 128 360
Oola sAFHIE 2 P2
30,000 3 A+ 128 1,080
o=Roloiagz) 24 4,000
O2AMLHME 22X 50,000 28t A 20 * 128 2,400
OEH ¢ &3 400,000 20 *23] 1,600
OBIRAAAE MHA 201 oaMEZ 1,106
OUIZANM EEB2 HE 5002 x3Z=*1,0000H 1,500
(B)Fess & o 22 53,801 59,685 5,884
201 et | 51,101 54,285 A3,184
01 A2/l 43,267 54,285 A11,018
OF0ISE Al 7,500
Oo=x=olsEs . =221
30,0002 x102F A %1500 & 4,500
OF0EES =AHA JIM HgEZ2H
8,000 «10JH* 1500 & 1,200
OXExM= 2| 30, 0002 x40 1501 A 1,800
O=0sE 8 2 H&
80,000« 13| * 1500 & 1,200
OZ0ISEZ U222 aEY 31,192
oold=y ddra| 3,375
Ool2=g 2ZZX 45,0002 #58F A x 1501 A 3,375
2 =2=22%l 7,834 0 7,834
O=DSE U oldus 222 HEEEZ
217,600%x36YH 7,834
202 Gd4dl| 2,700 3,000 A 300
01 2L HI 2,700 3,000 A 300
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RN RPN SN RS,
m: DEX BFMUL A
Chel: DAASUAMH A (=ERE-T))
S -FH-S(HA) - NTANY - BES of &t o S DS
OFUSE FANHl HaES 2,700
(HE)II=SASEMNRSE(=1D) 79,057 80,193 21,136
= 79,057
101 1244| 79,057 80,193 21,136
= 79,057
04 J12tHZ2Z2HSEw 79,057 80,193 21,136
QIIEZBAHSEANR (S - A 13F) 79,057
= 79,057
(H=)nad #3xd 8,650 8,650 0
201 der2 gl 8,650 8,650 0
01 At 22l b 8,650 8,650 0
ouAY &HAHMH 6,840
OgZtX 10,0008 = 58 * 128 600
O2%0 40,000 * 43| « 128 1,920
Ox==a 2 180,000& = 200 « 123 4,320
oRlAHY EdEXA 250
OEEXAA 250 » 1,00000 = 12l 250
onEA=2Y UX= 1,560
Oszt=gxt 40,0008 * 2& » 128 960
OF=JIgxt 50,000& = 10 » 128 600
(B3F)FUSE & MsE22 280,450 260, 100 20,350
201 ¢er24dl 174,850 173,700 1,150
01 AFR 22l bl 174,250 173,100 1,150
OFUSES NH 3,130& » 50,000 156,500
OMZFXHA 2=l 2l E2= NS
500& = 4% » 1,0000H 2,000
oRlLzAR2E 7Y 12,420
OsAMgHESX(FUSSE, 2, Ry
=) 55,0008 * 52tA « 123 3,300
OZzH &Y 220,000& = 4CH » 23] 1,760
osguagal EYH
330,000& = 404 » 12 1,320
ORIAQNE Z2IH EY & &8
220,000 = 104 » 43 880
O=Al & el &8
220,0008 * 4CH » 33 2,640
OSALE (M) 21,000% = 104 X% = 122 2,520
ORUHFAFIMNN At U3 AALAE =
el 5,000& » 2008 1,000
O=HASTH(HEA) & -2 8 L HE <
SXNE 822 NH 2,330
Os=2= M 5008 * 45 » 1,0000H 2,000
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SM: XY
2 DEF BN A A
Ciel: DAASOIABTIH (619 ®8)
% 5 d Lo
S RE-L =L I BRI EU=RE-F-E 0f &4 S HDE
OAN -7 = oad 84 &7 o A
10,000& = 330H = 15 330
02 33234 600 600 0
OSEUYLSI FAE*
10,000,000& = 147 * 6% 600
301 2Et2a= 105,600 86,400 19,200
HIIEtE2a= 105,600 86,400 19,200
ORIt THASBA 28
10,0008 » 2& * 202 x 225 « 12E 105,600
(B)UEAANY = 1,800 0 1,800
203 =2l 1,800 0 1,800
03 AIM =AY RFA 1,800 0 1,800
OUHARZ=Z oot 1,800
(Fe)Fome sy +3 2,400 0 2,400
303 &= 2,400 0 2,400
01 Zaf= 2,400 0 2,400
O MOt XM @+ SPA A= 2,400
Ozl 300,000& x1& =42 J| 1,200
o= 200,000& x 1 x4=2 D 800
oz 100,000& x1E *4= D 400
N SAME LS 832,439 762,253 70,186
= 62,226
S 30,000
Al 740,213
R SAE L3 832,439 762,253 70,186
= 62,226
S 30,000
Al 740,213
(BF)UHESAUEH 28 X2 75,000 65,000 10,000
S 15,000
Al 60,000
307 elZtol A 75,000 65,000 10,000
S 15,000
Al 60,000
Oz pltFaExE 75,000 65,000 10,000
OXNESAHEH SAES A& 75,000,000 75,000
S 15,000
Al 60,000
(H )M SAUE 29 K& 175,637 161,722 13,915
307 e12t01™ 175,637 161,722 13,915
02 gt Ex= 175,637 0 175,637
OXESAEH 228 A& 175,637
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SAH: KX
H: Q2ASAELE
ool MHRSMEES CEREED
5 = <IE]
BB R(E) - MRAY - BAS of & S50 HDS2
Ol 114,719
OHFB=U2(5UEE 82 2) 26,297
oger29H| 34,621
(MK ESAK DS 1,000 1,000 0
301 LBt A3 1,000 1,000 0
09 SALAHIBAIS 1,000 0 1,000
OXAZ AR DS 0| 1,000
O=E2 D oy 100,000 x4 400
(@)==IImE=2c:]:1 40,000 152 600
(H2OUAZSAHESE NFEAX 282 (21D) 14,998 9,920 5,078
2 7,499
Al 7,499
307 2I2H0| A 14,998 9,920 5,078
= 7,499
Al 7,499
02 DItHAE XS 14,998 0 14,998
OXNAZSAN BEZ(AHEE) 14,998
= 7,499
Al 7,499
(BT EMME SAE2S T (ZH]) 50,000 65,000 A 15,000
= 15,000
Al 35,000
307 RI2+0I A 50,000 65,000 215,000
[ 15,000
Al 35,000
02 ItAAEXZ 50,000 0 50,000
ONSAME SAES X2(1HA) 50,000
= 15,000
Al 35,000
(B K= A B4R (2D) 39,308 38,288 1,020
=2 19,654
Al 19,654
307 QI2H0| A 39,308 38,288 1,020
= 19,654
Al 19,654
02 DI2tHAIB RS 39,308 0 39,308
OXNSAX ROIUIOIEH X (2Y) 39,308
= 19,654
Al 19,654
(HRA)XE AL ALY 88,750 68,750 20,000
201 Lt | 10,000 10,000 0
03 A2 ZH 10,000 0 10,000
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SA RXSED
MM NASAESF
el NESASET S
- - A L=
2 -EHHM .2 (3H) - HEAEY - BHES 04 AtoH ‘()-"f& Hus
OXASAR =52 N
100,000 *10CH* 10 10,000
307 QIZHOIA 78,750 58,750 20,000
2 RIABNEXRZ 78,750 0 78,750
ON2ZALAISH K& 78,750
OESXAZSAMES E5AILY
1,500,000 4 & 6,000
OS2 AR AA(TH) 40,0002 *7504 3,000
OXNASAIL ALHE 26,0008 500 *13] 13,000
ORL2AML 2 HSAE 85
1,000,000 *20H 20,000
ORI Z ALK Al 15,000 2,000 30,000
OXS S ALK 2HAlH| 3,000 %2, 000 6,000
OYUBI2H|(#AAY|) 2509 +3,0000H*13] 750
(B )NASA 245 =2 287,600 235,413 52,187
201 e 9| 4,200 4,800 AB00
01 AL 22l 4,200 4,800 2600
ONIEAN EES M 1,0002 * 3,000H 3,000
oOX2 =AY I M 100,000 * 1274 1,200
307 DI2HOI A 283,400 230,613 52,787
02 oIZHHAEES 283,400 230,613 52,787
OHZ=ANIAZSAME 29
283,400,0002 * 1JHA 283,400
(BF)NESA 28X2 20,000 50,500 A30,500
307 e12t0l A 20,000 20,000 0
02 oItAAETZ 20,000 10,000 10,000
ORLNASAN X 200,000 * 100&! 20,000
(H=)22A 2C0UI0IE XIS 39,308 33,288 1,020
2 19,654
Al 19,654
307 QI2t0| & 39,308 38,288 1,020
=2 19,654
Al 19,654
2 oI2AAEXTS 39,308 38,288 1,020
OXNK=ZA 2CIHIOIEH XL 39,308,000 39,308
=2 19,654
Al 19,654
(H=)NASAMK A2 30,838 28,372 2,466
=2 15,419
Al 15,419
307 RI2I0| A 30,838 28,372 2,466
= 15,419
Al 15,419
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SA: XX E D
HH: GRASANESE
Celr AESAELE CERED)
x - RE]
SA - B SRA(E) - HRAY - BES 0 & e RS2
02 QItABARERZ 30,838 28,372 2,466
OXNSESAX ASHEE 30,838,000 30,838
= 15,419
Al 15,419
(HZ)EFA FRASAX B3 10,000 0 10,000
307 2I2HO| ™ 10,000 0 10,000
04 BIIBALE X3 10,000 0 10,000
OHFAl KH&ZAX 43 10,000,0008 * 13 10,000
MHAPEDEE 16,250 20,000 23,750
2DELH =25 16,250 20,000 3,750
(BaO)NSEXIEWS X 3,750 7,500 A3,750
306 212 3,750 7,500 A3,750
01 &3 3,750 7,500 A3,750
OXNATEH £ 3,750
(BF)S=2XNSTUENL EH3 12,500 12,500 0
306 2132 12,500 12,500 0
01 &3 12,500 12,500 0
OS2XNAXEUE =22
12,500,0008 * 13 12,500
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